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Attempt any Five questions.
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l. {¢)  Differentiate between economiv growth and economic

development.

(#)  Why does sustainability matters n the process of

economic development * Clarify. 10+10
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Explain the theory of demographic transition.
Analyse India’s popuiation in light of this theory. 10+10
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What are the causes of low productivity of agriculture

in India ? Clarify.

Examine the role of new agricultural strategy in

improving agricultural productivity in India. 10+10
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What are the major sources of agricultural finance in
India

Why is the moneyiender still important for Indian

farmers ? . 1010
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Crititcally examine the performance of public sector in

India.

In light of economic reforms. has its importance

deciined ! Clarify. S a1\
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kxamine the important aspects ot food problem in India.

What steps have been taken by the government to solve

this problem ? 10+10
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(a) What are the causes of recent inflation in India ?

{f})  What steps the govemnment has undertaken to constrain

this inflation ?
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Write short notes on any rwo :
() = Vicious circle of poverty
{i{) Balanced and unbalanced growth

{iii) Poverty line.
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